www.shbide.com 021-69577328

KIS Hii 2 ) A g e Yk A1

KS90 50 S1 F

RIS

ST~ S Lol

KS50 KS63 KS75
KS90  KS110 KS130 S22 Lo
KS150
5. 7.5. 10, 15, 20,
25. 30. 40. 50. 60- R 2%
80. 100

R R
L AL

1] : KS90-50-S1-F/Jithi iy {2 BCH1304N1 1A




. . o
www.shbide.com 021-69577328
Y “h M .
JRENE RS AL
Mk W L KS50 KS63 KS75 KS90 KS110 KS130 KS150
5 65
7.5 65 135 310 480 610 950 1660
10 65 135 310 480 610 950 1660
e
i 15 65 135 310 480 610 950 1660
s 20 65 135 310 480 610 950 1660
AN
ki 25 65 135 310 480 610 950 1660
i Nm 30 65 135 310 480 610 950 1660
il 40 50 115 280 450 550 880 1420
it 50 50 115 280 450 550 880 1420
Ty 60 50 100 260 420 530 840 1360
80 40 85 220 410 480 750 1250
100 35 65 170 320 410 650 1100
FOKh 1 LT2B Nn 5-100 OfE 4 ﬁﬁﬁﬁ LA
B N rpm 5-100 3000 3000 2500 2500 2000 2000 2000
BRHHEHm 1B Tpm 5-100 5000 5000 4000 4000 3000 3000 3000
5 <8 <8 <8 <8 <8 <8 <8
7.5 <8 <8 <8 <8 <8 <8 <8
10 <8 <8 <8 <8 <8 <8 <8
15 <8 <8 <8 <8 <8 <8 <8
20 <8 <8 <8 <8 <8 <8 <8
25 <10 <10 <10 <10 <10 <10 <10
g arcmin 30 <10 <10 <10 <10 <10 <10 <10
B 40 <10 <10 <10 <10 <10 <10 <10
50 <12 <12 <12 <12 <12 <12 <12
60 <12 <12 <12 <12 <12 <12 <12
80 <15 <15 <15 <15 <15 <15 <15
100 <15 <15 <15 <15 <15 <15 <15
AYFFR I JIF N 3-1000 1850 2800 3200 3800 4500 7200 9500
i h 3-1000 10000
5 88%
7.5 86% 88% 90% 90% 90% 91% 91%
10 85% 87% 89% 89% 89% 89% 90%
15 80% 83% 87% 87% 86% 87% 88%
20 80% 82% 85% 85% 84% 86% 85%
HENE 14 25 6% 8% 84% 82% 85% 84% 85%
30 1% 4% 81% 80% 9% 80% 83%
% 40 69% 1% 7% 76% 7% % 7%
50 64% 66% 76% 72% 76% 6% 7%
60 53% 57% 69% 69% 72% 4% 73%
80 53% 56% 63% 63% 69% 67% 70%
100 48% 48% 61% 57% 62% 65% 63%
TE kg 5-100 4.5 7.2 9.8 14.0 44.0 62.0 95
W dB 5-100 <58 <58 <60 <62 <65 <65 <68
i C 5-100 +10°C~+60°C
S (WA320) L 5-100 0.153 0.3 0.58 1.05 2.85 4,55 6. 85




021-69577328

www.shbide.com

i

KSTh i

1400r/min)

(nl

S|olo olo O o o olo olo
I[100 o0 % O OO o0 O|0|0
2|00 @ 0O o0 OO0 OO0 ® O OO Olol0ol0O
K000 ® OO 010 O|0|o ® OO0 ® O OO0 O|0|0|0
S/0/0/0|0 @ 000 O] 0|0 ® OO0 ® e OO0 ®eO |00 ® O 000
Lle eoo |eeo o0 000 ® e O OO |®e0C 00 ® e e OO0 ® e O OO0
Y0 @000 e @000 e e OO0 ® e O 00 e e 00O o e 0000 e e0 000
S e e 000 e e0000e eO0O0 ® e @8 OO0 e e®O 000 e e e OO0 e e e®O 000
L e @O 00 e e o000 e 80000 ® e 8OO0 e @O OO0 e e 0 OO0 e e e e e OO0
Sle e 000 e e e 000 e e0O00O0 ® e 9 OO0 e e®OO0O0O0OC e e®eO0O0O0 e e e e e OO0
M00OOOCQQOOOCtOOOOOQCtOOOQQOOOOOQQQOOOQQQQQOO
o | @@ O O O XXX XXX XXX XXX XXX K] XK XK XK XK XXX XXX XXX XX XX XXX XXX
== ==EE=EE= e EEEERE R R R R R R R S = E E =_H =G EIE =R SEH R ESNES
S8 e33R a8 e a8 e e e e e e e S e e e e e EE
S oo IBReI SRS Er IR SR SIS SIS ERSS S SE SIS SIS RS S
w o o Lo o o ) o
= Lo Ne) - (@) — o Lo
= (e [a) (e (e — — —

VE: & FopUHEAERNECE, SR AARFIIERE, < Fon B, © ZREsnKE




www.shbide.com

021-69577328

y . oC1| C2

- & 1R

s s &)

— w T 9

- C6 | ]

C4 [ I

Bl il B ! | b2
N _{Df P
b

e | A B | E O Q | N| M| R | V|G | B |L | a| PE
KS50 | 120 | 80 | 70 | 50 | 64 | 84 | 60 | 8.5 | 40 | 8 | 70 | 92 | 45 |M8X10(n=4)
KS63 | 144 | 100 | 80 | 63 | 80 | 102 | 70 | 8.5 | 50 | 103 | 85 | 112 | 45 |M8X14(n=8)
KS75 | 172 | 120 | 95 | 75 | 93 | 119 | 86 | 11 | 60 | 112 | 90 | 120 | 45 |M8X14(n=8)
KS90 | 206 | 140 | 110 | 90 | 102 | 135 | 103 | 13 | 70 | 130 | 100 | 140 | 45 MI0OX18(n=8)
KS110 | 255 | 170 | 130 | 110 | 125 |167.5/127.5) 14 | 85 | 144 | 115 | 155 | 45 M10X18(n=8)
KS130 | 293 | 200 | 180 | 130 | 140 |187.5/146.5 16 | 100 | 155 | 120 | 170 | 45 MI2X21(n=8
KS150 | 340 | 240 | 180 | 150 | 180 | 230 | 170 | 18 | 120 | 185 | 145 | 200 | 45 MI2X21(n=8
Me | D | H|P|T t b | C7|C2]C6 ¢Cl b2 £2 b C566) & C3H7
KS50 [25(24) 85 1100 | 7 |28.3(27.3)| 8 | 76 Mo | 5 |70 | 5/5/5 |14.3/16.3/18.3] 50 [12/14/16
KS63 [25(28) 95 110 | 8 28.3(31.3)| 8 |95 | M6 | 8 |90 | 5/5/6 |16.3/18.3/21.8| 70 [14/16/19
KS75 |28(35) 115 140 10 31.3(38.3)| 8 |115| M8 | 10 |115) 6/8/8 |21.8/25.3/27.3] 95 119/22/24
KS90 35(38)130 160 |11 |38.3(41.3)| 10 |130| M8 | 10 |145) 8/8/8 |25.3/27.3/31.3| 110 22/24/98
KS110 | 42 |165 200 |14 | 45.3 | 12 |180/M12] 10 |200/8/8/10 |27.3/31.3/38.3/114. 3/24/28/35
KS130 | 45 |215(250(15| 48.8 14 1190/ M12| 10 |215{8/10/10 31.3/38.3/41.3| 180 28/35/38
KS150 | 50 |215 250 |18 | 53.8 | 14 |240/M12] 10 |21510/10/12 38.3/41.3/45.3| 180 35/38/42




	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4

